2 3 4|2 5 6 7 8 9 10 N 312 |3 | | 4 | 15
NO . REVISION BY CH | SUP| APPROVED DATE
§ A
B B
C C
) NOTE o
WORK THIS DRAWING WITH DRAWING SEI85-314
D D
RELEASED FOR
- FABRICATION / INSTALLATION o
PPPL Drafiing: ¢ Jerry Siegel  orsis”
a 2 2 | 38 COMM | "-8UNC-2B HEX NUT C'STL - IN PLT i
4 | 4 | 37 COMM | "-8UNC-2A x 4" LG HEX HD CAP SCREW | C'STL - IN PLT
3] 3 | 36 COMM | "-8UNC-2A x 3" LG HEX HD CAP SCREW  |C'STL - IN PLT
8 | 8 | 35 COMM |"-8UNC-2A x | /2 LG HEX HD CAP SCREW C'STL - IN PLT
— 15| 15 | 34 COMM " SPLIT LOCK WASHER C'STL - IN PLT -
7] 17| 33 COMM " FLAT WASHER C'STL - IN PLT
6 6 | 32 COMM M20 x 2.5MM PITCH METRIC CLASS 8 HEX NUT |C'STL - IN PLT
F 6 6 | 3 COMM 3/4" SPHERICAL WASHER SET - McMASTER-CARR 911314090 | C'STL - IN PLT
4 | 4 | 30 COMM 3/8-16UNC-2B HEX NUT C'STL - 2N PLT i
4 4 29 COMM 3/8" SPLIT LOCK WASHER C'STL - IN PLT
4 | 4 | 28 COMM 3/8" FLAT WASHER C'STL - IN PLT
4 4 27 COMM WELD STUD - 3/8-16UNC-2A x | |/4"LG C’STL
- 4 | 4 | 26 COMM | /4-20UNC-2B HEX NUT C'STL - IN PLT —
4 | 4 | 25 COMM | /4-20UNC-2A x 1" LG HEX HD CAP SCREW |C'STL - IN PLT
4 | 4 | 24 COMM /4" SPLIT LOCK WASHER C'STL - IN PLT
8 | 8 | 23 COMM | /4" FLAT WASHER C'STL - IN PLT
G 2 | 12 | 22 COMM #10-24UNC-2B HEX NUT C'STL - IN PLT G
16 | 16 | 21 COMM $10-24UNC-2A x |" LG HEX SOCKET HD CAP SCREW |C'STL - IN PLT
6 | 16 | 20 COMM #10 SPLIT LOCK WASHER C'STL - IN PLT
32 1 32 ] 19 COMM 10 (@ . 190 NOM) FLAT WASHER C'STL - IN PLT
- 2| 12|18 COMM #4-40UNC-2B HEX NUT C'STL - IN PLT -
2 |12 | 1T COMM #4 SPLIT LOCK WASHER C'STL - IN PLT
24 | 24 | 16 COMM #4 FLAT WASHER C'STL - IN PLT
2 | 12|15 COMM #4-40UNC-2A x 5/8 LG HEX HD MACH SCR |C'STL - IN PLT
| e [e] e Jmmmergmieamaes o [ —1 |
ATRLOC WEDGMOUNT PRECISION LEVELER
30 3 | 13 COMM WITH SPHERICAL SEAT, BOLT-ON —
#1.36206.56-206-VRKC/903
- o — 2 SE186-308-02 | MCNF SEGMENT "C" SUPPORT BRACKET TYPE #2 WELDMENT - OPPOSITE | SEE DWG
. N SE186-308-01  |MCWF SEGMENT "C" SUPPORT BRACKET TYPE #2 WELDMENT - AS SHOWN | SEE DWG
) — 1 10 SE186-307-02 | MCWF SEGMENT "C" SUPPORT BRACKET WELDMENT - OPPOSITE | SEE DWG
> — 9 SE186-307-01  |MCWF SEGMENT "C" SUPPORT BRACKET TYPE #1 WELDMENT - AS SHOWN | SEE DWG o
| N SE186-306-02 | MCWF SEGMENT "A" SUPPORT BRACKET WELDMENT - OPPOSITE | SEE DWG N
— | 1 SE186-306-01  |MCWF SEGMENT "A" SUPPORT BRACKET WELDMENT - AS SHOWN | SEE DWG 2;
| | 6 SEI185-311-3  |VERTICAL LASER PEN MOUNTING BRACKET BRACE SEE DWG %
| | 5 SE185-311-04  |LASER PEN MOUNTING BRACKET SUPPORT PLATE WELDMENT SEE DWG 55
- | | 4 SE185-311-03 |VERTICAL LASER PEN MOUNTING BRACKET WELDMENT | SEE DWG >
| | 3 SE185-311-02 |REAR LASER PEN MOUNTING BRACKET WELDMENT SEE DWG =
| | 2 SEI185-311-01 |FRONT LASER PEN MOUNTING BRACKET WELDMENT SEE DWG
| | | MODULAR COIL HALF PERIOD ASSEMBLY
’ — THIS DWG RIGHT HALF PERIOD ASSEMBLY _— 3 |
— THIS DWG LEFT HALF PERIOD ASSEMBLY S 3
A96Y|ASSY| NO. | DRAWING NO. OR DESCRIPT 10N MATERIAL p2a ol
— B B PARTS LIST —
\ mag COMPUTER GENERATED| ~r\TRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
47 - MANUDARLchlHNAGNGES PRINCETON UNIVERSITY
NOT PERMITTED  [UNLESS oTHERWISE sPeciFIED| NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSSEMBLY
@@@ ° MACH INE_SURFacEs'Y/ FIELD PERIOD ASSEMBLY FIXTURE
f 0 RO S NG D 1" | Break sware epces 0oss.020 | HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS | K
MODEL NAME TOLERANCES NON-CUMULATIVE F DSN: L. MORRIS [1-26-07| DRAWING NO:
OI ASSEMBLY - LEFT HALF PERIOD ASSEMBLY RELEASE LEVEL: Fabrication SE185-300 L e s T ee | SE185-302
DWG VERSION NO: 34 ENG INEER s i L oy T sieeel | 112607 SHEET | OF 6 |mevh 12
2 3 e 5 6 7 8 9 | 10 | | | g 12 |3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


FOLD

FOLD

FOLD

FOLD
™o

|3

| | 4

|5

0|

ASSEMBLY

LEFT HALF PERITOD ASSEMBLY

NO.

REVISITON

BY | CH

SUP

APPROVED

DATE

RELEASED FOR

PPPL Drafting: ? Jerry Siegel

FABRICATION / INSTALLATION

-05'00'

FOR NOTES AND BILL OF MATERITAL SEE SHEET |

FOLD

-
(=)
=
=)

NCSX-SE185-302

COMPUTER GENERATED
DRAWING
MANUAL CHANGES
NOT PERMITTED

CENTRAL FILES:

UNLESS OTHERWI

SE SPECIFIED

PRINCETON PLASMA PHYSICS LABORATORY
PRINCETON UNIVERSITY

NATIONAL COMPACT STELLARATOR EXPERIMENT

RELEASE LEVEL: Fabrication

FOLD

DWG VERSION NO: 34
9 | 10

WEIGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSEMBLY
MACH INE_SURFACES'Y FIELD PERIOD ASSEMBLY FIXTURE
D0 T o NG RGO | Break sware Ebces .005/.020 | HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS
MODEL NAME TOLERANCES NON-CUMULATIVE DSN: L. MORRIS [ 1-26-07| DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: M. COLE 11-26-07
SE185-300 X 1100 |omize eoin -
Lo U | a1 e[ 11 e o OE100-302
ENGINEER ivoviarerore Loven 20mr o 'suPv: J. SIEGEL 11-26-07| SHEET 2 OF 6 REVD . |5

FOLD
™o

| 3

| 4

NCSX_ASSY_FORMAT_E



jsiegel


FOLD

? 3 4|3 5 6 8 9 | 0 | | = | 3 | | 4 | | 5
NO . REVISION BY | CH | SUP| APPROVED DATE
A
B
C
FoLD
D
E
l__
G
H
FOLD
[QN]
(@
o
(9 (33)D—(3)3a)G8) ;
©
%
RELEASED FOR <
FABRICATION / INSTALLATION 8
PPPL Drafting: ¢ Jerry Siegel oz =
J
FOR NOTES AND BILL OF MATERIAL SEE SHEET |
Ol ASSEMBLY - BOTTOM [SOMETRIC VIEW
COMPUTERR GENERATED] cenTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
MANUDALchlHNAGNGES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLESs oTHERWISE sPeciFiEp|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSEMBLY
MACH INE_SURFACES'Y FIELD PERIOD ASSEMBLY FIXTURE
DO NOT R ITG D QRMATION | greak suare £bces .005/.020 |  HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS | X
MODEI_ NAME TOLERANCES NON-CUMULATIVE J DSN: L. MORRIS [1-26-07] DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: M. COLE 11-26-07
RELEASE LEVEL: Fabrication L8070 e T srom [ 11eenor| OE189-302
DWG VERSION NO: 34 ENGINEER Vet 73“'?:0”2‘ SUPV: J. SIEGEL 11-26-07| SHEET 3 OF 6 REVD. |§

(D)
OV
I~
FOL
O
(Op]

9 | 10

FOLD
™o

| 3

| 4

NCSX_ASSY_FORMAT_E



jsiegel


2 3 S 5 6 7 9 | 0 || = | 3 | | 4 | )
NO . REVISION BY | CH|SUP| APPROVED DATE
A
A
B B
C C
FOLD | =
D D
E E
l__
l__
G G
H H
TFOLD | FOLD
|
[QN]
A
o
©
%
— RELEASED FOR o
FABRICATION / INSTALLATION 8
PPPL Drafting: 2 Jerry Siegel onsazs =
J J
QQ@ QQ@ FOR BILL OF MATERIAL AND NOTES SEE SHEET |
COMPUTER GENERATED| ctnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
MANUDARLchlHNAGNGES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLESs oTHERWISE sPeciFiEp|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WEIGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSEMBLY
) MACH INE_SURFACES'Y FIELD PERIOD ASSEMBLY FIXTURE )
000000000000000000000000 HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS
02 ASSEMBLY ) R | GHT HALF PER | OD ASSEMBLY MODEI_ NAME TOLERANCES NON-CUMULATIVE DSN: L. MORRIS [ 1-26-07| DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: M. COLE 11-26-07
RELEASE LEVEL: Fabrication WELDlNiE'%‘”O N RERHI rwemrr— — ——SE185-302
DWG VERSION NO: 34 ENGINEER : 'f:oﬁ:ﬁ; SUPV: J. SIEGEL 11-26-07| SHEET 4 OF © REVD. |5

FOLD

9 | 10

OVER
| 3

| 4

NCSX_ASSY_FORMAT_E



jsiegel


2 5 6 7 8 9 | 0 N S |2 13 | | 4 | 15
NO . REVISION BY CH | SUP|] APPROVED DATE
A
A
B B
C C
FOLD | [FoLD
D D
b E
l_‘
l_‘
G G
H H
TFOLD | FOLD
|
[QN]
(@)
o
P
©
5
- <
w
=
RELEASED FOR
FABRICATION / INSTALLATION
mww @G@ PPPL Drafting: ? Jerry Siegel _05.:;2'14
COMPUTDERRAVﬁENNGERATED CENTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
- PRINCETON UNIVERSITY
02 ASSEMBLY RIGHT HALF PERITOD ASSEMBLY o b S Juntess otwerwise specirien]  NATIONAL COMPACT STELLARATOR EXPERIMENT
WEIGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSEMBLY
MACH INE_SURFACES'Y FIELD PERIOD ASSEMBLY FIXTURE
PO SCAL NG DRawine OV | BREAK SHARP EDGES c00s7.020 | HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS
MODEL NAME TOLERANCES NON-CUMULATIVE DSN: L. MORRIS [ 1-26-07| DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: M. COLE 11-26-07
RELEASE LEVEL: Fabrication 511857300 e e s [112s0n| OE189-302
DWG VERSION NO: 34 ENGINEER ;\ﬁéﬁmi’.;&f’?? Zin'fioilﬁi SUPV: J. SIEGEL 11-26-07| SHEET 5 OF 6 REVD . |5
fa 3 412 S © ! 3 9 | 1 0 | | 2 12 3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


w
I~
OLD
n
»
—
o
O
C_>
oL

:)

13 | | 4 | 5

NO. REVISION BY | CH | SUP| APPROVED DATE

@@@ RELEASED FOR

FABRICATION / INSTALLATION
PPPL Drafting:  Jerry Siegel 1214

0500

072 ASSEMBLY - BOTTOM [SOMETRIC VIEW FOR NOTES AND BILL OF MATERIAL SEE SHEET |

-
(=)
=
=)

NCSX-SE185-302

COMPUTER GENERATED] crnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
MANUDARLchlHNAGNGES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLESs oTHERWISE sPeciFiEp|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WEIGHT Pro [ DIMENSIONS ARE IN INCHES FIELD PERIOD ASSEMBLY
MACH INE_SURFACES'S FIELD PERIOD ASSEMBLY FIXTURE
DRAN NG | | BREAK SHARP EDGES c005/.020 | HALF FIELD PERIOD ASSEMBLY WITH SUPPORTS AND LASER PENS
MODEL NAME TOLERANCES NON-CUMULATIVE DSN: L. MORRIS [ 1-26-07| DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: M. COLE 11-26-07
RELEASE LEVEL: Fabrication 5L 1857300 Lo e e T srom [112e0r OE189-302
DWG VERSION NO: 34 ENG INEER o e suPv: U, SIEGEL 11-26-07| SHEET 6 OF 6 REVD |5

W
~
FOL
o
»
—
o

9 | 10 | X

FOL
™o

3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


		609-234-2133
	2007-12-14T07:52:25-0500
	pppl
	Jerry Siegel
	I am approving this document




